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HHEP. 14 A1 HEEP. 15 A4
- EDORSMN1em OFETHEDH EXDREIMNEmDEE
1 x 4 =[4] (4cm) X=5
5X 4=y
- BEBOREIHA2em OFTEIAH y=20 ZZ 20cn
[2]x 4 =[g] (8 cni)
miEMN 1 2 0cliD & =
EAORSIMNA3cm OF(THEBR y=120
[3]x 4=[1 2] (1 2cm) X XxX4=120
X=120+4
- ERORESHNOcm, EHEHLSAci OFTMEIDH X= 80 ZZ 30¢cm
[ Oxa | Ao ] (ach)
HEEP 15 (2
- EIAORSIHA Xem, EEMN yeni OFTMIBR a+ b= 13
(X x4 ]=[y] (y o) b=5DL=
a+ 5 =13
HFEP. 15 A2 a = 13—5
Ox4 = A a = 8 ZZ 8cm
HEEP. 15 A3 #EEP. 15 (3
X x4 =y 5 X 8 x X=y

X =2. BQ&E
5 x 8 x 2. 5 =y
y =100 ZZ 100¢n




